NAME: ________________________________
PERIOD: ___
DATE: _________________________
BIOSPHERE STUDY GUIDE
1)  For each of the following, place an A for abiotic and B for biotic on the lines next to the word.

_____ wind

_____sunlight

_____ grass

_____ bacteria

_____ mountains
_____ rabbits

_____ soil

_____ trees

_____ water

_____ elephants
2) The Koppen classification system is based on ____________________, ____________________, and ____________________ ____________________?

3) A climate is very humid all year round.  Which of the five types of classifications best describes this climate?

4) A climate experiences seasonal temperature changes.  Which of the five types of classifications best describes this climate?

5) Use the websites below as your resource. You can access them directly from my website. 

· Biomes:

http://ths.sps.lane.edu/biomes/index1.html
· World Biomes

http://www.blueplanetbiomes.org/world_biomes.htm
· The World’s Biomes
http://www.ucmp.berkeley.edu/glossary/gloss5/biome/ 

	Biome
	High/low temperature
	High/low rainfall
	Example of plant
	Plant adaptation
	Example of animal
	Animal adaptation

	tropical rainforest
	
	
	
	
	
	

	savannah
	
	
	
	
	
	

	grasslands
	
	
	
	
	
	

	desert
	
	
	
	
	
	

	deciduous forest
	
	
	
	
	
	

	taiga forest
	
	
	
	
	
	

	tundra
	
	
	
	
	
	


6)  Explain how a scientist observing a lion stalk a zebra in the tall grasses of the savannas of Africa is a representation of ecology. (Hint: Look up the definition of ecology.)
7)  Match the following descriptions with the appropriate biome.

a.  taiga

b. deciduous forest
c. desert
d. tundra
e. rainforest
f. savanna

   g. grasslands

_____ 50% of Earth’s species found here


_____ contains permafrost

_____  animals fur color may change with seasonal changes
_____ tree releases chemicals when eaten

_____  animals are bright in color, indicating poisonous

_____ plants can become dehydrated and survive

_____ trees found only near water sources


_____ moderate climate with seasonal changes

_____ dark color of plants designed to absorb Sun’s energy
_____ animals have fatty tissues to store nutrients

_____ animals hibernate or migrate



_____ animals have very thick layers of fur

8)  Seven giraffes, four zebras, and three gazelles drink from a watering hole as a hyena lies in wait to attack beneath the grass of the savanna.  Several of the giraffes are eating leaves off of a nearby acacia tree.
a. What organisms make up the community in this scenario?
b. How many populations are found in this scenario?

c. Describe 3 ways in which organisms are interacting with each other and/or abiotic factors in this ecosystem.

9)  Match the following descriptions with the appropriate vocabulary word.

a. heterotroph
    b. omnivore
     c. carnivore
    d. autotroph
    e. herbivore
    f. scavenger
g. decomposer

_____ only eats autotrophs

          _____  only eats meat
             
_____ produces its own energy

_____eats autotrophs and heterotrophs
          _____ only eats plants

_____eats to receive energy

_____ eats remains of dead animals
          _____ eats plants and animals
_____ only eats heterotrophs

_____ breaks down remains into molecules      _____ lion


_____ deer

10)  If the birth rate is ____________ than the death rate, the population will ____________.
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11)  How is the Japanese Honeysuckle a threat to biodiversity and therefore should not be planted?

12) Use Figure 1 to answer the following questions.
a. What organism will have the most direct energy from consuming the bird?
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What organisms will contain some measure of energy from the plant?

c. What organisms will not contain energy from the bird in the food chain?
 13) Use Figure 2 to answer the following questions.

a. What trophic level (indicated by the letters) has the highest level of energy?

b. What trophic level would be labeled as the first trophic level?

c. What trophic level contains tertiary consumers?
d. What trophic level contains producers?

14)  What effects would deforestation have on both autotrophs and heterotrophs?

15)  ____________ occurs when fertilizer and animal waste runoff are carried into hydrosphere.  This process creates _____________ blooms.  Eventually, the algae will die, removing _____________ from the water, forming ___________.
16)  How does acid rain develop and what are its effects?
17)  A pack of wolves has been separated from its natural habitat.  It can no longer hunt the prey it usually hunts.  What might happen to the wolf population if a new source of prey is not found?

18) Describe what biodiversity is and why it is important to any ecosystem.

19)  What are some possible consequences of loss of biodiversity and how can we prevent loss of biodiversity from occurring?


20) Match the following description with the appropriate symbiotic relationship.
a) commensalism 

b) parasitism

c. mutualism

___ both organism benefit

___ one organism benefits while the other organism is unharmed

___ one organism benefits and causes harm to the other organism

21) Use the food web illustration below to complete this section.
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a. What do berries, flowers, and grasses have in common?
b. What are the roles of the decomposers and detritivores? 
c. Which organisms are strictly herbivores and, and which organism is strictly a carnivore?
d. Which organisms are secondary consumers?
e. Which organism is a tertiary consumer?
f. Both the bear and grouse are _______________ and therefore feed on both _______________ and _______________.
g. How much of the berries' and flower's energy is available to the bear? (Hint: consider all paths)
h. How much of the grass' energy is available to the red-tail hawk? (Hint: consider all paths)
i. Why must producers have faster growth and larger numbers than consumers?
j. What would happen to the deer population if the bear population no longer existed?
k. What would red-tail hawk population if the marmot population were to decrease dramatically?
22) Use the adjacent words to fill in the blanks.    ecosystem 

interdependent

resources 
extinction


a. All living things are _______________ - any given species depends on the services of another species to survive.
b. Limits chances of a species _______________ - genetic variation in a population prevents one pest or disease from completely wiping out the population. 
c. Variety of organisms help to maintain an _______________ - organisms collectively can contribute to soil formation, pollution breakdown, nutrient storage, or contribute to climate stability.
d. Greater biodiversity provides larger pool of _______________ - we can use more organisms for food, medicinal purposes, wood products, animals for breeding stocks, etc.
23) Explain why the following are threats to biodiversity. (See the Biodiversity PPT.)
a. human population: 
b. invasive species:
c. habitat alteration: 

d. acid rain: 
e. eutrophication: 

24) What are two consequences of the loss of biodiversity?

25) What does it means when an ecosystem has reached its carrying capacity? (See page 735 in textbook.)
26) Define the following terms.
a. limiting factors: 

b. density dependent factors:

c. density independent factors:

27) Classify the limiting factors as either density dependent (DD) or density independent (DI). 

a. _____ a halt to hunting

b. _____ a major flood

c. _____ a two-year drought

d. _____ an increase in diseases

e. _____ clear cutting forest

f. _____ decrease in the number of parasites

g. _____ extinction of primary predator

h. _____ five years of unusually hot temperatures

i. _____ introduction of a competitive species

j. _____ rampant starvation

k. _____ the damming of the Colorado river
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28) Analyze the graph below and use the terms in the Word Bank to complete each sentence. Terms may be used multiple times.

Notice how the ____________________ of the rabbits is growing at a rapid rate at point B. This is referred to as ____________________ ____________________. This occurs because ____________________ are readily available and no ____________________ arises among them. The birth rate ____________________ the death rate during exponential growth. The population of rabbits has reached its ____________________ ____________________ at point C. This means that the population has reached its ____________________ population size due to the amount of ____________________ available. The birth rate and death rate have therefore reached an ____________________.
Word Bank


carrying capacity


competition


equilibrium


exceeds


exponential growth


maximum


population


resources














